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8.69 x 50% = 5.88 x20% =
0.65 x 60% = 8.92 X 90% =
1.11 X 90% = 0.25 x 10% =
4.01 x 70% = 5.7 % 60% =
9.84 x 20% = 1.9 x90% =
2.57 x20% = 5.08 x 30% =
8.05 x 10% = 6.51 x 20% =
6.92 x 80% = 2.54 x 20% =
242 x 50% = 8.65 x 50% =
5.18 X 40% = 2.1 x40% =
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8.69 x 50% = 4.345

0.65 x 60% = 0.39

1.11 x90% = 0.999

4.01 x70% = 2.807

9.84 x20% = 1.968

2.57x20% = 0.514

8.05 x 10% = 0.805

6.92 x 80% = 5.536

242 x50% = 1.21

5.18 x40% = 2.072

5.88 x20% = 1.176

8.92 x 90% = 8.028

0.25 x 10% = 0.025

5.7 x60% = 3.42

1.9 x90% = 1.71

5.08 x30% = 1.524

6.51 x20% = 1.302

2.54 x20% = 0.508

8.65 x 50% = 4.325

2.1 x40% = 0.84
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